

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Department of the Treasury

Internal Revenue Service

DLN: 93491133032605

OMB No 1545-0052

2014

Open to Public Inspection

Return of Private Foundation or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public.
 Information about Form 990-PF and its instructions is at www.irs.gov/form990pf.

nformation about Form 990-PF and its instructions is at www.irs.gov/form990pf.

Inspe

		endar year 2014, or tax	year beginning 01-	01-2014	, a	nd ending 1				
		undation A FOUNDATION	' '	A Employer identification number						
%	FOUND	PATION MANAGEMENT GRP L				20-0780447				
10		f street (or P O box number if mail is OND AVENUE 34TH FLOOR	not delivered to street address	Room/suite		B Telephone number (see instructions)				
		n, state or province, country, and ZIP of A 981041022	or foreign postal code			C If exemption	application is pendin	g, check here 🕨 🦵		
G CI	neck a	Il that apply Initial return	Initial return of a	former public charit		D 1 Foreign or	ganizations, check h	ere 🕨 🗀		
Final return A mended return Address change Name change					,	2. Foreign o	rganizations meeting k here and attach co	the 85%		
		ype of organization	n 501(c)(3) <u>e</u> xempt priva		nn.		undation status was t n 507(b)(1)(A), chec			
		ket value of all assets at end	J Accounting method			F If the found	ation is in a 60-mont	h termination		
of '	year (1	from Part II, col. (c), \$ 8,287,977	Other (specify) (Part I, column (d) musi				n 507(b)(1)(B), chec			
Pa	rt I	Analysis of Revenue a total of amounts in columns (b), (necessarily equal the amounts in constructions)	c), and (d) may not	(a) Revenue and expenses per books	1 (d)	Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes (cash basis only)		
	1	Contributions, gifts, grants, et	c , received (attach							
		schedule)		0						
	2	Check ► 🔽 if the foundation is	s not required to attach							
	3	Interest on savings and tempo	orary cash investments							
	4	Dividends and interest from se	ecurities	182,460		182,460				
	5a	Gross rents								
	ь	Net rental income or (loss)								
₽	6a	Net gain or (loss) from sale of	634,705							
Revenue	ь	Gross sales price for all asset 2,413,560	s on line 6a							
~	7	Capital gain net income (from	Part IV, line 2)			634,705				
	8	Net short-term capital gain .								
	9	Income modifications								
	10a	Gross sales less returns and allowances								
	b	Less Cost of goods sold .								
	C	Gross profit or (loss) (attach s	·							
	11	Other income (attach schedul	•							
	12	Total. Add lines 1 through 11		817,165		817,165				
	13	Compensation of officers, dire		0						
.n	14	Other employee salaries and								
À	15	Pension plans, employee bene						_		
둊	16a	Legal fees (attach schedule).								
Expenses	b	Accounting fees (attach sche		0 €5 51.420		42.420		0.000		
	_ c	Other professional fees (attac	•	51,430		42,430	0	9,000		
atı	17	Interest		% 9,359		209	0	1,405		
Ξ	18	Taxes (attach schedule) (see Depreciation (attach schedule	•	9,339		209		1,403		
Admını strative	19 20	Occupancy								
ð	21	Travel, conferences, and meet								
and	22	Printing and publications	_							
8	23	Other expenses (attach sched		95. 1,345		0	0	1,345		
ji III	24	Total operating and administr								
Operating		Add lines 13 through 23		62,134		42,639	0	11,750		
Õ	25	Contributions, gifts, grants pa	ıd	355,000				355,000		
	26	Total expenses and disbursem 25	ents. Add lines 24 and	417,134		42,639	0	366,750		
	27	Subtract line 26 from line 12								
	а	Excess of revenue over expens	ses and disbursements	400,031						
	ь	Net investment income (If neg				774,526				
	С	Adjusted net income (if negation	ive, enter -0 -)							

Pa	rt II	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash—non-interest-bearing	(-,	(2) 23311 341142	(-)
	2	Savings and temporary cash investments	230,709	412,216	412,216
	3	Accounts receivable			
		Less allowance for doubtful accounts 🕨			
	4	Pledges receivable -			
	_	Less allowance for doubtful accounts ►			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons (attach schedule) (see instructions)			
	7	Other notes and loans receivable (attach schedule)			
	'	Less allowance for doubtful accounts			
	8	Inventories for sale or use			
sets	9	Prepaid expenses and deferred charges	2,709	3,240	3,240
ASO.		Investments—U S and state government obligations (attach schedule)	<u> </u>	<u> </u>	<u> </u>
٠,	10a		 		·
	b	Investments—corporate stock (attach schedule)	<u> </u>	<u>-</u>	
	C	Investments—corporate bonds (attach schedule)	2,203,003	1,000,390	1,031,034
	11	Investments—land, buildings, and equipment basis 400,000	400,000	400,000	254,490
	40	Less accumulated depreciation (attach schedule)	400,000	400,000	234,490
	12	Investments—mortgage loans			
	13	Investments—other (attach schedule)			
	14	Land, buildings, and equipment basis			
		Less accumulated depreciation (attach schedule)			
	15	Other assets (describe			
	16	Total assets (to be completed by all filers—see the	6 205 200	6 600 027	0.207.077
	4-	Instructions Also, see page 1, item I)	6,285,388	6,689,927	8,287,977
	17	Accounts payable and accrued expenses			
yr.	18	Grants payable			
abilities	19	Deferred revenue			
ē	20	Loans from officers, directors, trustees, and other disqualified persons			
Ĭ	21	Mortgages and other notes payable (attach schedule)	% 3,237 %	7,745	
	22	Other liabilities (describe			
	23	Total liabilities (add lines 17 through 22)	3,237	7,745	
yn de		Foundations that follow SFAS 117, check here F			
Fund Balance	24	and complete lines 24 through 26 and lines 30 and 31.			
<u>ದ</u>	24	Unrestricted			
<u>~</u>	25				
Ĭ	26	Permanently restricted			
屲		Foundations that do not follow SFAS 117, check here			
ŏ		and complete lines 27 through 31.			
Assets	27	Capital stock, trust principal, or current funds			
ŝ	28	Paid-in or capital surplus, or land, bldg, and equipment fund	6 202 151	6 602 102	
	29	Retained earnings, accumulated income, endowment, or other funds	6,282,151	6,682,182	
Ž	30	Total net assets or fund balances (see instructions)	6,282,151	6,682,182	
<u> </u>	31	Total liabilities and net assets/fund balances (see instructions)	6,285,388	6,689,927	
	rt II		/- \ l 20 /- :		
1		Total net assets or fund balances at beginning of year—Part II, column			6 202 151
2		, , , , , , , , , , , , , , , , , , , ,			6,282,151
2		Enter amount from Part I, line 27a			400,031
3		Other increases not included in line 2 (itemize)		_ 3 4	6 602 102
4		Add lines 1, 2, and 3		5	6,682,182
5		Decreases not included in line 2 (itemize) Total net assets or fund balances at end of year (line 4 minus line 5)—l			6 602 102
6		i otal net assets of fund paralices at end of year (line 4 minus line 5)—I	- arcii, colullii (D), line	= JU . 0	6,682,182

	(a) List and describe	sses for Tax on Inve	(b) How acquire P—Purchase D—Donation	(c) D	ate acquired o , day, yr)	(d) Date sold (mo , day, yr)			
1 a	SHORT TERM SALES	5				Р			
b	LONG TERM SALES	- DONA	TED			D			
С	LONG TERM SALES	- PURCI	HASED			Р			
d	CAPITAL GAIN DIV	IDENDS	;			Р			
e									
(e	e) Gross sales price		(f) Depreciation allowe (or allowable)	d (or other basis pense of sale			or (loss)) mınus (g)
а	7	72,146				68,5	'0		3,576
b	Ţ	54,248				17,08	36		37,162
С	2,24	16,024				1,693,19	9		552,825
d									41,142
e									·
	mnlete only for assets s	howing	gain in column (h) and owne	d by the for	ındatıon	on 12/31/69		D Caine (Col	(h) gaın mınus
			(j) Adjusted basis as of 12/31/69		(k) Exc	ess of col (i) ol (j), if any			ess than -0-) or
a			. ,					· ·	3,576
<u></u>									37,162
с									552,825
d									,
<u>-</u> е							+		
3 Part	If gain, also enter in F in Part I, line 8 .	Part I , lii	r (loss) as defined in sectione 8, column (c) (see instrument of the column of the col	ctions) If (loss), er	nter -0 - • •	3	- Comp	
For opt f section	ional use by domestic pon 4940(d)(2) applies, less foundation liable for the	eave thi	oundations subject to the se	ection 4940 able amount	(a) tax	on net investmen year in the base i	t incom	e)	┌ Yes ┌ No
			ich column for each year, se				tries		
Base	(a) period years Calendar or tax year beginning in)		(b) sted qualifying distributions		(c)	itable-use assets		(d) Distribution (col (b) divided	
, (2013		358,498			7,514,521		, (=) =iriaca	0 047707
	2012		356,349			7,037,319			0 050637
	2011		262,041			7,252,953			0 036129
	2010		88,400			6,862,568			0 012881
	2009		68,400			6,262,284			0 010923
2	Total of line 1, colum	n (d)					2		0 158277
3	the number of years t	he found	the 5-year base period—div lation has been in existence	e ıf less thaı	n 5 year	s	3		0 031655
4			ritable-use assets for 2014		•		4		8,120,695
5							5		257,061
6	Enter 1% of net inves	stment II	ncome (1% of Part I, line 2	7b) 		[6		7,745
7	Add lines 5 and 6						7		264,806
8	Enter qualifying distri	ibutions	from Part XII, line 4			[8		366,750
	If line 8 is equal to or the Part VI instructio		than line 7, check the box	ın Part VI, l	ıne 1b, a	and complete tha	part u	sing a 1% tax	rate See

	990-PF (2014)			age 4			
Par	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see page 18 of the installand	ructio	ns)				
1a							
	on line 1						
	Date of ruling or determination letter(attach copy of letter if necessary-see instructions)						
ь	Domestic foundations that meet the section 4940(e) requirements in Part V, check			7,745			
	here Fand enter 1% of Part I, line 27b						
c	All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of						
	Part I, line 12, col (b)						
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)						
3	Add lines 1 and 2		-	7,745			
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others			,, ,,			
•	enter -0-)						
5	Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0 5			7,745			
6	Credits/Payments						
а	2014 estimated tax payments and 2013 overpayment credited to 2014 6a 3,240						
b	Exempt foreign organizations—tax withheld at source 6b						
c	Tax paid with application for extension of time to file (Form 8868) 6c						
d	Backup withholding erroneously withheld 6d						
7	Total credits and payments Add lines 6a through 6d		:	3,240			
8 Enter any penalty for underpayment of estimated tax. Check here T if Form 2220 is attached.							
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed 9			4,505			
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid • 10						
11	Enter the amount of line 10 to be Credited to 2015 estimated tax Refunded 11						
Par	t VII-A Statements Regarding Activities						
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did		Yes	No			
	it participate or intervene in any political campaign? 🕏	. 1a		No			
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see Instructions						
	for definition)?	1b		No			
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials						
	published or distributed by the foundation in connection with the activities.						
c	Did the foundation file Form 1120-POL for this year?	1 c		No			
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year						
	(1) On the foundation \$ (2) On foundation managers \$						
e	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed						
	on foundation managers 🕨 \$						
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	. 2		No			
	If "Yes," attach a detailed description of the activities.						
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles						
	of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes 🕏	. з		No			
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		No			
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4b					
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	. 5		No			
	If "Yes," attach the statement required by General Instruction T.						
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either						
	By language in the governing instrument, or]]				
	• By state legislation that effectively amends the governing instrument so that no mandatory directions						
	that conflict with the state law remain in the governing instrument?	. 6	Yes				
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c),						
	and Part XV.	. 7	Yes				
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)						
	▶ WA						
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney						
	General (or designate) of each state as required by General Instruction G? If "No," attach explanation .	8b	Yes				
9	Is the foundation claiming status as a private operating foundation within the meaning of section $4942(j)(3)$						
	or 4942(j)(5) for calendar year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)?						
	If "Yes," complete Part XIV	. 9		No			
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names						
	and addresses.	. 10		No			

11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the			
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		No
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had			
	advisory privileges? If "Yes," attach statement (see instructions)	12		No
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Yes	
	Website address ► <u>N/A</u>			
14	The books are in care of ►FOUNDATION MANAGEMENT GRP LLC Telephone no ►(206)	667-	0300	
	Located at ► 1000 SECOND AVENUE 34TH FLOOR SEATTLE WA ZIP+4 ► 9810410	22		
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 —Check here			─
13	and enter the amount of tax-exempt interest received or accrued during the year		,	,
	- · · · · · · · · · · · · · · · · · · ·		1	l
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority over	1	Yes	No
	a bank, securities, or other financial account in a foreign country?	16		No
	See instructions for exceptions and filing requirements for FinCEN Form 114, Report of Foreign Bank and Financial Accounts (FBAR) If "Yes", enter the name of the foreign country			
Pai	rt VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly)			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes V No			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)			
	a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes V No			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available			
	for the benefit or use of a disqualified person)?			
	(6) A gree to pay money or property to a government official? (Exception. Check "No"			
	if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days)			
ь	If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations			
U	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		No
	Organizations relying on a current notice regarding disaster assistance check here	10		NO
_	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts,			
	that were not corrected before the first day of the tax year beginning in 2014?	1c		No
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private			140
_	operating foundation defined in section 4942(1)(3) or 4942(1)(5))			
а	At the end of tax year 2014, did the foundation have any undistributed income (lines 6d			
_	and 6e, Part XIII) for tax year(s) beginning before 2014?			
	If "Yes," list the years > 20, 20, 20			
ь	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2)			
	to all years listed, answer "No" and attach statement—see instructions)	2b		No
c	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here			
	▶ 20, 20, 20			
За	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at			
	any time during the year?			
b	If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation			
	or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved			
	by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3)			
	the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine			
	ıf the foundation had excess business holdings in 2014.).	3b		
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		No
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its			
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2014?	4b		No

	1330 11 (2										i age c
Pa	rt VII-B	Statements Rega	ardir	ng Activities for	W	nich Form 4720	Ma	y Be Required <i>(cont</i>	inue	d)	
5a	_	year did the foundatio		•							
	(1) Carry	on propaganda, or othe	rwise	attempt to influenc	e leg	ıslatıon (section 49	45 (e	e)) [?]	No		
	(2) Influe	nce the outcome of any	spec	ific public election (see	section 4955), or to	car	ry			
	on, dır	ectly or indirectly, any	vote	registration drive?				┌ Yes 反	No		
	(3) Provid	le a grant to an individu	ıal for	travel, study, or oth	ners	ımılar purposes?		Γ Yes Γ	No		
	(4) Provid	le a grant to an organız	atıon	other than a charıta	ble,	etc , organızatıon de	scri	bed			
	ın sec	tion 4945(d)(4)(A)? (s	ee in:	structions)				┌ Yes ▽	No		
	(5) Provid	le for any purpose othe	r thar	religious, charitabl	e, sc	ientific, literary, or					
	educa	tional purposes, or for	the pr	evention of cruelty	to ch	ıldren or anımals?.		Yes 🔽	No		
Ь	If any ans	wer is "Yes" to 5a(1)-	(5), d	ıd any of the transad	tion	s fail to qualify unde	rthe	e exceptions described in			
	Regulation	ns section 53 4945 or	ınac	urrent notice regard	ling o	disaster assistance	(see	instructions)?		5b	
	O rganizat	ions relving on a currei	nt not	ice regarding disast	eras	ssistance check her	e.		_		
c	=	werıs "Yes" to questio									
_		•	-	• •		·		- No		
		ttach the statement requ					•	1 1 1 1 1 1 1 105 1			
6a		undation, during the ye					nro	muumo on			
0a									. No		
L	•	I benefit contract?						· · ·		6.	No.
D			аг, ра	y premiums, directi	yori	indirectly, on a perso	onai	benefit contract?	•	6b	No
		6b, file Form 8870.							_		
7a		ne during the tax year,									
ь								the transaction?		7b	
Pa	3 38 VA		t Of	ficers, Directors	s, T	rustees, Founda	atio	n Managers, Highly	Paid	Emp	loyees,
		and Contractors icers, directors, trustee	- f-			hair commonantion (instructions)			
	LIST All OIT	icers, directors, trustee	_	Title, and average		c) Compensation (See	(d) Contributions to			
	(a) Nar	ne and address	(0)	hours per week		If not paid, enter	e	employee benefit plans			e account,
	` ,		de	evoted to position		-0-)		d deferred compensation	ot	her all	owances
BRIA	N FISH			E PRES, DIR		0		0			C
		AVENUE 34TH	1 0								
FLO		001041033									
	NNE L FISH-S	981041022			<u> </u>		+				
			$\frac{1}{1}$	S, TREAS, DIR		0		0			С
FLO		AVENUE 34TH	"								
		981041022									
DANI	EL ASHER		SEC	RETARY		0		0			C
100	0 SECOND	AVENUE 34TH	1 0					·			
FLO	O R										
SEA	TTLE, WA	981041022									
_2	Compensat	ion of five highest-pai	d emp	loyees (other than	thos	e included on line 1–	-see	instructions). If none, er	iter "I	NONE."	1
, ,				(b) Title, and aver	age			(d) Contributions to	١, , .	_	
(a		address of each emplo nore than \$50,000	yee	hours per week	:	(c) Compensation	on	employee benefit plans and deferred			e account, owances
	paid ii	iore than \$50,000		devoted to positi	on			compensation	"	iici aii	owances
								·			
				-							
				1							
		other employees paid				<u>I</u>			 		

Information About Officers, Directors, Truste	es, Foundation Managers, Hi	ghly Paid Employees,
and Contractors (continued) 3 Five highest-paid independent contractors for professional services (see instructions). If none, enter "NON	 VE".
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
Total number of others receiving over \$50,000 for professional services.		•
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include rele		r of Expenses
organizations and other beneficiaries served, conferences convened, research papers produ	ced, etc	
2		
3		
4		
Part IX-B Summary of Program-Related Investments (
Describe the two largest program-related investments made by the foundation during t	ne tax year on lines 1 and 2	A mount
<u>-</u>		
2		
All other program-related investments See instructions 3		
<u> </u>		
Total. Add lines 1 through 3		▶

Page 8

Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations. see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc. 1 purposes 1a 7.651.059 1h 338.811 1c 254,490 1d 8.244.360 Reduction claimed for blockage or other factors reported on lines 1a and 1e 2 2 3 3 Subtract line 2 from line 1d. 8.244.360 Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see 4 123.665 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V. line 4. 5 8.120.695 5 406,035 **Distributable Amount** (see instructions) (Section 4942(1)(3) and (1)(5) private operating foundations and Part XT certain foreign organizations check here $\blacktriangleright \Gamma$ and do not complete this part.) 406.035 1 Tax on investment income for 2014 from Part VI, line 5. 7,745 2a Income tax for 2014 (This does not include the tax from Part VI). . . Add lines 2a and 2b. 7.745 2c 3 3 398.290 4 4 5 5 398.290 Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1. . . 7 398.290 Part XIII Oualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes 1 Expenses, contributions, gifts, etc —total from Part I, column (d), line 26. 1a 366,750 1b 0 Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc. 2 2 Ω 3 Amounts set aside for specific charitable projects that satisfy the O За O 3b 4 Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4 366,750 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment 7,745 359,005 Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for

the section 4940(e) reduction of tax in those years

ئىك	alt XIII Olidisti ibuted Ilicollie (see ilisti				
		(a) Corpus	(b) Years prior to 2013	(c) 2013	(d) 2014
1	Distributable amount for 2014 from Part XI, line 7	Corpus	rears prior to 2013	2013	398,290
	Undistributed income, if any, as of the end of 2014				
	Enter amount for 2013 only			351,098	
	Total for prior years 2012, 2011, 2010			,	
	Excess distributions carryover, if any, to 2014				
	From 2009				
	From 2010				
	From 2011				
	From 2012				
е	From 2013 0				
f	Total of lines 3a through e		0		
4	Qualifying distributions for 2014 from Part				
	XII, line 4 🕨 \$366,750				
а	Applied to 2013, but not more than line 2a			351,098	
b	Applied to undistributed income of prior years				
	(Election required—see instructions)				
С	Treated as distributions out of corpus (Election required—see instructions)				
d	Applied to 2014 distributable amount				15,652
	Remaining amount distributed out of corpus		0		
	Excess distributions carryover applied to 2014		0		
	(If an amount appears in column (d), the				
	same amount must be shown in column (a).)				
6	Enter the net total of each column as				
	indicated below:				
	Corpus Add lines 3f, 4c, and 4e Subtract line 5		0		
b	Prior years' undistributed income Subtract				
_	line 4b from line 2b				
С	Enter the amount of prior years' undistributed income for which a notice of deficiency has				
	been issued, or on which the section 4942(a)				
	tax has been previously assessed				
d	Subtract line 6c from line 6b Taxable amount				
	—see instructions				
е	Undistributed income for 2013 Subtract line 4a from line 2a Taxable amount—see				
	instructions				
f	Undistributed income for 2014 Subtract				
	lines 4d and 5 from line 1 This amount must				382,638
_	be distributed in 2015				302,030
,	A mounts treated as distributions out of corpus to satisfy requirements imposed by				
	section 170(b)(1)(F) or 4942(g)(3) (Election may				
	be required - see instructions)				
8	Excess distributions carryover from 2009 not				
_	applied on line 5 or line 7 (see instructions)				
9	Excess distributions carryover to 2015. Subtract lines 7 and 8 from line 6a		0		
10	Analysis of line 9				
	Excess from 2010				
	Excess from 2011				
c	Excess from 2012				
d	Excess from 2013				
е	Excess from 2014				

Check here F if the foundation only makes contributions to preselected charitable organizations and does not accept unsolicited requests for funds. If the foundation makes gifts, grants, etc. (see instructions) to individuals or organizations under other conditions, complete items 2a, b, c, and d

- a The name, address, and telephone number or email address of the person to whom applications should be addressed
- b The form in which applications should be submitted and information and materials they should include
- c Any submission deadlines
- **d** Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors

Form 990-PF (2014)				Page 11
Part XV Supplementary Infor				
3 Grants and Contributions Paid		proved for F		
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	A mount
Name and address (home or business)	or substantial contributor	recipient	Contribution	
a Paid during the year ATTACHMENT A 1000 SECOND AVENUE 34TH FLOOR SEATTLE, WA 98104	N/A	PC	SEE ATTACHMENT A	355,000
Tital			N 20	255.000
Total				355,000 T

	PF (2014)		_			Page 1 2
	I-A Analysis of Income-Produci s amounts unless otherwise indicated		s Isiness income	Excluded by section	512 513 or 514	(e)
-	n service revenue	(a) Business code	(b) A mount	(c) Exclusion code	(d) A mount	Related or exempt function income (See instructions)
b						
e						
2 Membe3 Interes	and contracts from government agencies ership dues and assessments st on savings and temporary cash ments					
5 Net ren	nds and interest from securities			14	182,460	
b Not d 6 Net rer	financed property					
8 Gain or invento	nvestment income			18	634,705	
10 Gross p 11 Other r	profit or (loss) from sales of inventory revenue a					
c						
12 Subtota13 Total. A	al Add columns (b), (d), and (e) Add line 12, columns (b), (d), and (e) worksheet in line 13 instructions to verify c			1	817,165 L 3	
	Explain below how each activity for which the accomplishment of the foundation's instructions)	the Accomp	orted ın column (e) of Part XVI-A c	ontributed importa	

Form 990-P	F(2014)										Рa	ge 13
Part XVI	II Information R Noncharitable					actio	ns and I	Relationships	With			
section	organization directly or i 501(c) of the Code (oth	ındırectly e	engage	ın any of	the following wit						Yes	No
organıza												
	rs from the reporting fou											١
	sh									1a(1)		No
	erassets									1a(2)		No
	ansactions es of assets to a noncha	vritable ov	amnt o	rannizatio	n					16/1)		No
	chases of assets from a											No
	ital of facilities, equipme											No
	mbursement arrangemei									1b(4)		No
	ns or loan guarantees.									1b(5)		No
	ormance of services or r									1b(6)		No
	of facilities, equipment,									─		No
of the go	swer to any of the above ods, other assets, or se ansaction or sharing arr (b) Amount involved	ervices giv rangement,	en by t , show	the reporti in column	ng foundation I	f the fou the god	undation r ods, other	eceived less than	fair marke es receive	et value ed	1	nte
(a) Line No	(b) Amount involved	(C) Name	OT HOTIC	папале ех	empt organization	(u)	Description	or transfers, transacti	ons, and sna	illily alla	ngemei	its
describe	undation directly or indictions of the discounties of the discount of the disc	he Code (o schedule		nan sectio	•	ın sectı	-		tion of relati	.厂Y∈	es F	√ _{No}
the	der penalties of perjury, e best of my knowledge a ormation of which prepa *****	and belief,	ıt ıs tr	ue, correc					n taxpaye May the return	r) is bas IRS disci	sed on	all
	Signature of officer or t	trustee			Date	_ •	Title		below	preparer tr)? √ \		
	Print/Type preparer's WALTER R SMITH	name	Prepa	arer's Sign	nature	Date		Check if self- employed ▶	PTIN P(009379	936	<u></u>
Paid Prepare Use	Firm's name BADER MARTIN PS Firm's address							Firm's EIN ►	<u> </u>			
Only		1000 SECOND AVENUE 34TH FLOOR SEATTLE,								00		

efile GRAPHIC print - DO NOT PROCESS | As Filed Data -

DLN: 93491133032605

Note: To capture the full content of this document, please select landscape mode (11" \times 8.5") when printing.

TY 2014 Depreciation Schedule

Name: MADRONA FOUNDATION

efile GRAPHIC print - DO NOT PROCESS	As Filed Data -	DLN: 93491133032605

TY 2014 Investments Corporate Bonds Schedule

Name: MADRONA FOUNDATION

Name of Bond	End of Year Book Value	End of Year Fair Market Value	
CORPORATE BOND INVESTMENTS -	1,686,398	1,651,854	
SEE BALANCE SHEET DETAIL			

efile GRAPHIC print - DO NOT PROCESS	As Filed Data -	DLN: 93491133032605

TY 2014 Investments Corporate Stock Schedule

Name: MADRONA FOUNDATION

Name of Stock	End of Year Book Value	End of Year Fair Market Value	
EQUITY INVESTMENTS -	3,568,545	5,320,860	
SEE BALANCE SHEET DETAIL			

TY 2014 Investments Government Obligations Schedule

Name: MADRONA FOUNDATION

EIN: 20-0780447

US Government Securities - End of

Year Book Value: 619,528

US Government Securities - End of

Year Fair Market Value: 645,317

State & Local Government Securities - End of Year Book

Value:

State & Local Government Securities - End of Year Fair Market Value: efile GRAPHIC print - DO NOT PROCESS | As Filed Data - DLN: 93491133032605

TY 2014 Other Expenses Schedule

Name: MADRONA FOUNDATION

Description	Revenue and Expenses per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
LICENSE/FILING FEES	25	0	0	25
DUES AND SUBSCRIPTIONS	1,260	0	0	1,260
BANK CHARGES	60	0	0	60

efile GRAPHIC print - DO NOT PROCESS As Filed Data - DLN: 93491133032605

TY 2014 Other Income Schedule

Name: MADRONA FOUNDATION

Description	Revenue And Expenses Per Books	Net Investment Income	Adjusted Net Income
MISCELLANEOUS REIMBURSEMENT			

efile GRAPHIC print - DO NOT PROCESS | As Filed Data - DLN: 93491133032605

TY 2014 Other Liabilities Schedule

Name: MADRONA FOUNDATION

Description		Beginning of Year - Book Value	End of Year - Book Value	
	FEDERAL EXCISE TAX	3,237	7,745	

efile GRAPHIC print - DO NOT PROCESS | As Filed Data - DLN: 93491133032605

TY 2014 Other Professional Fees Schedule

Name: MADRONA FOUNDATION

Category	Amount	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
MANAGEMENT FEES - FOUNDATION	12,000	3,000	0	9,000
MANAGEMENT GROUP				
BROKER FEES - BNY MELLON	39,430	39,430	0	0

TY 2014 Taxes Schedule

Name: MADRONA FOUNDATION

Category	Amount	Amount Net Investment Adjusted Net Income Income		Disbursements for Charitable Purposes
REAL ESTATE TAX	1,405	0	0	1,405
FEDERAL TAXES-CURRENT	7,745			
FOREGIN TAXES	209	209	0	0

MADRONA FOUNDATION GRANTS AND CONTRIBUTIONS PAID 2014 EIN: 20-0780447 2014 - FORM 990 PF ATTACHMENT A

Recipient Name and Address	Relationship to Substantial Contributor and Foundation Status of Recipient	Purpose of Grant or Contribution	Amount
Electronic Privacy Information Center 1718 Connecticut Ave, NW Washington, DC 2009	None Exempt	To provide support to Exempt Organization	50,000 00
Center for Democracy & Technology 1634 First Street NW, Suite 1100 Washington, DC 20006	None Exempt	To provide support to Exempt Organization	50,000 00
Electronic Frontier Foundation 815 Eddy Street San Francisco, CA 98109	None Exempt	To provide support to Exempt Organization	25,000 00
Center for Investigative Reporting 1400 65th Street, Suite 200 Emeryville, CA 94608	None Exempt	To provide support to Exempt Organization	50,000 00
Free Speech for People 48 N PLeasant Street, #304 Amherst, MA 01002	None Exempt	To provide support to Exempt Organization	75,000 00
American Civil Liberties Union - WA 901 Fifth Avenue, Suite #630 Seattle, WA 98164	None Exempt	To provide support to Exempt Organization	50,000 00
Just Vision, Inc 1616 P Street NW #340 Washington, DC 20006	None Exempt	To provide support to Exempt Organization	5,000 00
New Beginnings PO Box 75125 Seattle, WA 98175-0125	None Exempt	To provide support to Exempt Organization	22,000 00

MADRONA FOUNDATION GRANTS AND CONTRIBUTIONS PAID 2014 EIN: 20-0780447 2014 - FORM 990 PF ATTACHMENT A

Recipient Name and Address Partners In Health PO Box 845578 Boston, MA 02284-5578	Relationship to Substantial Contributor and Foundation Status of Recipient None Exempt	Purpose of Grant or Contribution To provide support to Exempt Organization	Amount 3,000 00
Human Rights Watch 350 Fifth Avenue, 34th floor New York, NY 10118-3299	None Exempt	To provide support to Exempt Organization	5,000 00
Trees, Water & People 633 Remington St Fort Collins, CO 80524	None Exempt	To provide support to Exempt Organization	5,000 00
Earthjustice 203 Hoge Building 705 Second Avenue Seattle, WA 98104-1711	None Exempt	To provide support to Exempt Organization	15,000 00
		Total Grants Paid	355,000.00

Checking 24,133 24,	133
BNY #5060 388,083 388,	083
Total 412,216 412,	216
Investments - U.S. and State government obligations:	
BNY #5060 619,528 645,	317
Total 619,528 645,	317
Investments - Corporate stock:	
BNY #5060 - Equities 3,540,650 5,320,	860
Tax Basis in Donated Microsoft Corporation Stock 27,895	
Total 3,568,545 5,320,	860
Investments - Corporate Bonds:	
BNY #5060 - fixed income less US State & Gov't	
Obligations 1,682,113 1,651,	854
Tax Basis in Donated Government National Mortgage	
Assn 4,285	
Total 1,686,398 1,651,	854

Fixed income

Taxable

Individual securities Treasury

Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		Pet of holdings
200,000	United States Treasury Note DTD 11/15/2005 4.5% 11/15/2015 Moody's: AAA S&P: AA+	\$ 103.6640	\$ 207,328.00	\$ 197,550.79	\$ 9,777.21	\$ 9,000.00	4.3%	2.6%
300,000	United States Treasury Note DTD 2/15/2006 4.5% 2/15/2016 Moody's: AAA S&P: AA+	104.6330	313,899.00	294,562.50	19,336.50	13,500.00	4.3	3.9
10,000	United States Treasury Note DTD 2/15/1991 7.875% 2/15/2021 Moody's: AAA S&P: AA+	135,1920	13,510.20	13,618.75	-108.55	787 50	5.8	0.2
5,000	United States Treasury Note DTD 8/15/1993 6.25% 8/15/2023 Moody's, AAA S&P AA+	133 1480	6,657.40	6,520.12	137.28	312.50	4.7	0.1

Moody's: BAA1 S&P: BBB+

DTD 3/19/2008 7% 3/19/2018 Moody's: A3 S&P: BBB+

American Express

50,000

Individual securities Government related

Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		
50,000	Federal Natl Mtg Assn DTD 2/16/2006 5% 3/15/2016 Moody's: AAA S&P: AA+	\$ 105.4570	S 52,728.50	\$ 55,423.90	\$ -2,695,40		4.7%	
50,000	Federal Home Loan Mortgage Corp DTD 7/B/2011 2% 8/25/2016 Moody's: AAA S&P: AA+	102 3880	51,194.00	51,852.10	-658.10	1,009.09	2.0	0.6
Individual securitie	s Corporate							
Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		Pet of holdings
50,000	Wachovia Bank Na DTD 1/31/2005 4.875% 2/1/2015 Moody's: A1 S&P: A+	\$ 100.3100	\$ 50,155.00	\$ 53,544.50	\$ -3,389 50	S 2,437.50	4.9%	0.6%
200,000	Procter & Gamble Co DTD 2/6/2009 3.50% 2/15/2015 Moody's: AA3 S&P: AA-	100.3640	200,728.00	200,898.00	-170.00	7,000.00	3.5	2.5
50,000	Citigroup Inc DTD 5/31/2005 4.7% 5/29/2015 Moody's: BAA2 S&P: A-	101.6230	50,811.50	53,007.50	-2,196.00	2,350.00	4.6	0.6
25,000	Barclays Bank PLC DTD 9/22/2009 5% 9/22/2016 Moody's: A2 S&P: A	105.5600	26, 6 40.00	27,695.08	-1,055 00	1,250 .00	4.7	0.3
50,000	John Deere Capital Corp DTD 10/11/2013 1.05% 10/11/2016 Moody's: A2 S&P A	100.1410	50,070.50	49,936.50	134.00	525.00	1.1	0.6
25,000	Bank Of America Corp DTD 11/21/2013 1.35% 11/21/2016 Moody's: BAA2 S&P: A-	99.7160	24,929 .00	24,993.50	-64,50	337.50	1.4	0.3
25,000	Verizon Communications DTD 2/12/2008 5.5% 2/15/2018	110.9860	27,746.50	29,072.75	-1,326 25	1,375.00	5.0	0.4

115.6950

57,847.50

59,301.00

-1,453.50

3,500.00

6.1

0.7

Individual securities Corporate continued

continued					Unrealized	Estimated		
Shares/par value	Description	Market price	Market value	Tax_cost	gain (or loss)	annual income	yıeld	holdings
10,000	Intercontinentalexchange DTD 10/8/2013 2.5% 10/15/2018 Moody's: A2 S&P: A	101.8220	10,182.20	9,991.10	191.10	250.00	2.5	0.1
50,000	Bank Of Nova Scotia DTD 10/30/2013 2.05% 10/30/2018 Moody's: AA2 S&P: A+	100.1220	50,061.00	49,964.50	96.50	1,025.00	2.1	0.6
25,000	Cisco Systems DTD 03/03/2014 2.125% 03/01/2019 Moody's: A1 S&P: AA-	100.4710	25,117.75	24,982.25	135.50	531 25	2.1	0.3
50,000	JP Morgan Chase & Co DTD 4/23/2009 6.3% 4/23/2019 Moody's: A3 S&P: A	116.1580	58,079.00	61,196.00	-3,117.00	3,150.00	5.4	0.7
20,000	Apple Inc DTD 5/6/2014 2.1% 5/6/2019 Moody's: AA1 S&P: AA+	101.1350	20,227.00	19,992.40	234.60	420.00	21	0.3
50,000	Westpac Banking Corp DTD 11/19/2009 4.875% 11/19/2019 Moody's: AA2 S&P: AA-	111,5760	55,788.00	57,848.00	-2,060.00	2,437.50	4.4	0.7
50,000	Simon Property Group LP DTD 1/25/2010 5.65% 2/1/2020 Moody's: A2 S&P: A	114.7860	57,393.00	58,939.50	-1,546.50	2,825.00	49	0.7
50,000	Rabobank Nederland DTD 1/11/2011 4.5% 1/11/2021 Moody's: AA2 S&P: A+	109.9950	54,997.50	55,344.50	-347.00	2,250.00	4.1	0.7
75,000	Unitedhealth Group Inc DTD 2/17/2011 4.7% 2/15/2021 Moody's: A3 S&P: A+	112.5460	84,409.50	83,235.00	1,174.50	3,525.00	4.2	11
35,000	Medtronic Inc DTD 3/15/2011 4.125% 3/15/2021 Moody's: A2 S&P: AA-	107.8710	37,754.85	37,511.60	243.25	1,443.75	3.8	05
25,000	Gilead Sciences Inc DTD 3/30/2011 4.5% 4/1/2021 Mondy's: A3 S&P: A-	111.0890	27,772.25	27,407.25	365.00	1,125.00	4.1	0.4

Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		Pet of holdings
75,000	Pepsico Inc DTD 8/29/2011 3% 8/25/2021 Moody's: A1 S&P: A-	103.0230	77,267.25	75,627.75	1,639.50	2,250.00	2.9	1.0
15,000	Aflac Inc DTD 2/10/2012 4% 2/15/2022 Moody's: A3 S&P: A	106.1330	15,919.95	15,966.75	-46.80	600.00	3.8	0.2
75,000	State Street Corp DTD 11/19/2013 3.7% 11/20/2023 Moody's: A1 S&P: A+	105.0660	78,799.50	75,657 75	3,141.75	2,775.00	3.5	10
Individual securities	s Mortgage backed securities							
Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		Pct of holdings
2,128.25	Government National Mortgage Assn Passthru CTF Pool Number 780165 DTD 6/1/1995 7% 8/15/2024 Moody's: N/A S&P: N/A	\$ 114.8610	S 2,444.53		\$ 2,444.53	\$ 148 98	6 1%	0.6%
Total taxable indivi	dual securities		\$ 1,790,458.38	S 1,771,641.26	S 18,817.12	\$ 70,631.48		22.4%
Pooled vehicle								
Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income	Current yield	Pct of holdings
24,489.796	Natixis Loomis Sayles Investment Grade Bond Fund	S 11.8700	\$ 290,693.88	\$ 300,000.00	\$ -9,306.12	\$ 12,783.67	4.4%	3.6%
Total taxable poole	d vehicle		\$ 290,693.88	\$ 300,000.00	S -9,306.12	S 12,783.67		3.6%
tal taxable fixed inc	come		\$ 2,081,152.26	\$ 2,071,641.26	\$ 9,511.00	\$ B3,415.15		25.0%

MADRONA FOUNDATION 2014 - FORM 990 PF BALANCE SHEET DETAIL High yield EIN 20-0780447

Pooled vehicle

Total fixed income	· · · · · · · · · · · · · · · · · · ·	\$ 2,297,171,33	\$ 2,301,641.26	\$ -4,469.93	\$ 96,299.54		28.7%
Total high yield fixed income	** ** **	\$ 215,019.07	\$ 230,600.00	\$ -13,980.93	\$ 12,884.39		2.7%
Total high yield pooled vehicle	•	\$ 216,019.07	\$ 230,000.00	\$ -13,980.93	\$ 12,884.39		2.7%
27,413.588 Blackrock High Yield Bond Portfolio	\$ 7.8800	\$ 216,019.07	\$ 230,000.00	\$ -13,980.93	\$ 12,884.39	6.0%	2.7%
Shares/par value Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income	Current yield <u>h</u>	

Equities

U.S. large cap

Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		Pct of holdings
580	Accenture PLC (ACN)	\$ 89.3100	\$ 51,799.80	\$ 19,726.74	\$ 32,073.06	\$ 1,183.20	2.3%	0.7%
2,450	Invesco (imited (IVZ)	39.5200	96,824.00	94,074.00	2,750.00	2,450.00	2.5	1.2
920	ACE Ltd (ACE)	114.8800	105,689.60	96,029.51	9,660.09	2,392.00	2.3	1.3
300	Alexion Pharmaceuticals Inc (ALXN)	185.0300	55,509.00	49,478.25	6,030.75	0.00	0.0	0.7
420	Allergan Inc (AGN)	212.5900	89,287.80	41,647.20	47,640.60	84.00	0.1	1.1
1,020	American Tower Corporation (AMT)	98.8500	100,827.00	52,517.29	48,309.71	1,550.40	1.5	1.3
1 ,22 0	American Water Works Co Inc (AWK)	53,3000	65,026.00	44,257.72	20,768.28	1,512.80	2.3	08
580	Ameriprise Financial Inc (AMP)	132.2500	66,125.00	20,393.41	45,731.59	1,160.00	1.8	08
935	Anadarko Petroleum Corp (APC)	82,5000	77,137 50	48,294.61	28,842.89	1,009.80	1.3	1.0
2,195	Apple Inc (AAPL)	110.3800	242,284.10	38,318.77	203,985.33	4,126.60	1.7	30
425	Bed Bath & Beyond Inc (BBBY)	76.1700	32,372.25	24,980.23	7,392.02	0.00	0.0	04
980	Borg-Warner Automotive Inc (BWA)	54.9500	53,851.00	24,015.26	29,835.74	509.60	1.0	0.7
930	CVS Caremark Corporation (CVS)	96.3100	89,568.30	67,862.94	21,705.36	1,302 00	1.5	1.1
1,300	Celgene Corp (CELG)	111.8600	145,418.00	34,567.91	110,850.09	0 00	0.0	1.8
850	Cerner Corp (CERN)	64.6600	54,961.00	48,582.94	6,378.06	0.00	0.0	0.7
595	Costco Whal Corp New (COST)	141.7500	84,341.25	49,201.42	35,139.83	844.90	1.0	1.1
860	Delta Air Lines Inc (DAL)	49.1900	42,303.40	27,606.00	14,697.40	309.60	0.7	0.5

Equities

U.S. large cap

Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		Pct of holdings
1,465	Discover Financial Services (DFS)	65.4900	95,942.85	25,181.74	70,761.11	1,486.40	1.5	1 2
2,030	E M C Corp Mass (EMC)	29.7400	60,372.20	41,841.64	18,530.56	933.80	1.6	0.8
945	EBAY Inc (EBAY)	56.1200	53,033.40	23,472.76	29,560.64	0.00	0.0	0.7
640	Ecolab Inc (ECL)	104.5200	66,892.80	33,363.87	33,528.93	844.80	1.3	0.8
1,350	Express Scripts Holdings, Inc. (ESRX)	84.6700	114,304.50	41,603.76	72,700.74	0.03	0.0	1.4
800	Fmc Technologies Inc (FTI)	46.8400	37,472.00	47,315.84	-9,843.84	0.00	0.0	0.5
1,550	Gilead Sciences Inc (GILD)	94.2600	146,103.00	31,606 57	114,496 43	0.00	0.0	1.8
95	Google Inc - Cl A (GOOGL)	530.6600	50,412.70	34,939 24	15,473 46	0.00	0.0	0.6
95	Google Inc-CI C (GOOG)	526,4000	50,608.00	35,030.76	14,977 24	0.00	0.0	B. 6
990	Illinois Toot Wks Inc (ITW)	94.7000	93,753.00	75,775 89	17,977.11	1,920.60	2.1	1.2
1,345	JP Morgan Chase & Co (JPM)	62.5800	84,170.10	53,351.61	30,818.49	2,152.00	2.6	1.1
395	Kraft Foods Group, Inc. (KRFT)	62.6600	24,750.70	15, 157 59	9,593.11	869.00	3.5	0.3
1,040	L Brands Inc (LB)	86 5500	90,012.00	18,262.40	71,749.60	1,414.40	16	1,1
1,030	Estee Lauder Companies Class A (EL)	76.2000	76,962.00	70,203.89	6,758.11	969,60	1.3	1.0
280	Linkedin Corporation (LNKD)	229.7100	64,318.80	49,868.00	14,450.80	0.00	0.0	0.8
625	Macy's Inc (M)	65.7500	41,093.75	22,901.81	18,191.94	781,25	1.9	0.5
520	McKesson Corporation (MCK)	207.5800	107,941.60	33,201.65	74,739.95	499.20	0.5	1.4
775	Microsoft Corporation (MSFT)	46.4500	35,998.75		35,998.75	961.00	2.7	0.5
870	National Oilwell Varco Inc. (NOV)	65.5300	57,011 10	56,436.77	574.33	1,600.80	28	0.7
530	Nextera Energy Inc (NEE)	106.2900	56,333.70	27,965.29	28,368,41	1,537.00	2.7	0.7
1,470	Nike Inc Class B Stock (NKE)	96.1500	141,340.50	54,854.78	86,485.72	1,646.40	1.2	18
700	Norfolk Southern Corporation (NSC)	109.6100	76,727.00	35,230.23	41,496.77	1,598.00	2.1	1.0
1,425	Oracle Corp (ORCL)	44 9700	64,082 25	46,840.47	17,241.78	684.00	1.1	8.0
740	Parker Hannifin Corp (PH)	128.9500	95,423.00	68,146.66	27,276.34	1,864.80	2.0	12
890	Pepsico Inc (PEP)	94.5680	84,158.40	58,371.05	25,787 35	2,331.80	2.8	11
1,025	T Rowe Price Group Inc (TROW)	85.8600	88,006.50	55, 138.59	32,867.91	1,804.00	2.1	11

Equities

U.S. large cap continued

Shares/par value	Description	Market price	Market value	Tex cost	Unrealized gain (or loss)	Estimated annual income		t Pct of holdings
590	The Procter & Gamble Company (PG)	91 0900	53,743.10	37,677.40	16,065.70	1,518 66	2.8	0.7
1,420	Qualcomm inc (QCOM)	74.3300	105,548.60	65,264.71	40,283.89	2,385.60	2.3	1,3
470	Roper Industries Inc (ROP)	156 3500	73,484.50	24,273.67	49,210.83	470.00	06	0.9
665	ST Jude Medical Inc (STJ)	65 03 00	43,244 95	29,442.53	13,802.42	718.20	1.7	0.5
1,540	Schlumberger Ltd (SLB)	85.4100	131,531.40	107,898.59	23,632.81	2,464.00	1.9	1.6
1,400	T J X Companies Inc (TJX)	68.5800	96,012.00	65,716.00	30,296 00	980.00	1.0	1.2
820	Target Corp (TGT)	75.9100	62,246,20	57,901.43	4,344.77	1,705.60	2.7	8.0
930	Thermo Fisher Scientific Inc. (TMO)	125.2 9 00	116,519.70	52,524.83	63,994.87	558.00	0.5	1.5
410	Visa Inc-Class A Shrs (V)	262.2000	107,502.00	73,113.51	34,388.49	787.20	0.7	1.3
1,010	Vmware Inc (VMW)	82.5200	83,345 20	84,722.72	-1,377.52	0.00	0.0	1.0
1,090	Whole Foods Mkt Inc (WFM)	50.4200	54,957.80	35,020.93	19,936.87	566.80	1.0	07
800	Yum! Brands Inc (YUM)	72.8500	58,280.00	59,768.48	-1,488.48	1,312.00	2.3	0.7
Total U.S. large cap			\$ 4,395,365.05	\$ 2,530,941.85	\$ 1,865,423.19	\$ 57,717.81		54.9%
U.S. mid cap								
Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		t Pct of holdings
3,300	Covanta Holding Corp (CVA)	\$ 22.0100	\$ 72,633 00	\$ 66,342 54	\$ 6,290.46	\$ 3,380.00	4.5%	0.9%
2,500	Tetra Tech Inc New (TTEK)	26.7000	66,750 00	72,472.50	-5,722.50	700.00	1.1	8.0
Total U.S. mid cap			\$ 139,383.00	\$ 138,815.04	\$ 557.96	\$ 4,000.00		1.7%
U.S. small cap								
Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		t Pct of holdings
12,583.893	Cambiar Small Cap Fund (CAMZX)	\$ 20.0200	\$ 251,929.54	\$ 300,000.00	\$ -48,070.46	\$ 0.00	0.0%	
Tota! U.S. small cap			\$ 251,929.54	\$ 300,000.00	\$ -48,070.45	\$ 0.00		3.2%

Developed international

Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income		Pet of holdings
1,050	Novo Nordisk A/S ADR (NVO)	\$ 42.3200	\$ 44,436.00	\$ 48,499.50	S -4,063.50	S 636.30	1.4%	0 6%
580	Sap Akiengesellschaft Sponsored ADR (SAP)	69.6500	40,397.00	42,403.80	-2,006.80	1,034.14	2.6	0.5
6,820.119	Dodge & Cox International Stock Fund(DODFX)	42,1100	287, 195.21	320,000.00	-32,804.79	0.00	0.0	3.8
Total developed inten	Total developed international			\$ 410,903.30	\$ -3B,875.09	\$ 1,670.44		4.7%
Other equity								
Shares/par value	Description	Market price	Market value	Tax cost	Unrealized gain (or loss)	Estimated annual income	Current yield	Pct of holdings
6,788.29	Deutsche Real Estate Securities Fund(RRREX)	S 23.7400	\$ 161,154.00	\$ 160,000.00	S 1,154.00	\$ 2,708.53	1.7%	2 0%
Total other equity		 	\$ 161,154.00	\$ 160,000.00	\$ 1,154.00	\$ 2,708.53		2.0%
Total equities		· · · · · · · · · · · · · · · · · · ·	\$ 5,320,859.80	\$ 3,540,650.20	\$ 1,780,199.60	\$ 66,096.70		55.5%